3 (Sem-3/CBCS) ECO HC 1

2021
( Held in 2022 )

ECONOMICS
Paper : ECO-HC-3016

( Intermediate Microeconomics—I )

( Honours Course )
Full Marks : 80
Time : 3 hours
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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
e 2PAd B foal

(a) What is cardinal utility?
FAIRAS Sopafarel {2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?
o1 4f Repst AN o e aifowss 79 3
73?7
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(c)

(d)

(e)

()]
(h)
()
0)

22A/39

(2)

Define income effect.

w1y e g |

What is meant by a person be Tisk
averse’?

e G&q= 1 SfwgE” I & o 9 2

Why is the average fixed cost curve
rectangular hyperbola?

5Te &9 I/ @O WO e 77 =2

When is the long-run average cost curve
L-shaped?

LI 51 TH @O (FfoU L-HFfS1 20 2

What is production function?

Teom IR 2

Define expansion path.
SRR “/] 75 e o

State the concept of shutdown point of a
firm

o1 AP TeATE @ R@ 4R Seay 740 |

Define opportunity cost.
Jeaet IR e e o
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(3)

2. Write short answers of the following
questions : 2x5=10
S5 AR B TR fu

(a) What is meant by slope of a budget line?
CED (I GO Ol e & @ I 2

(b) Distinguish between gross demand and
net demand.

75 oifzn % o SRR TeS A1 AT T4 |

(c) What are short-run and long-run costs of
production?

I E I T I T F 2

(d) Establish the relationship between total
utility and marginal utility.
P Toifarel WF e ToAfer e ook
FIo\ 41 |

(e) State the concept of optimum firm.

I AFSHER 4RMCo! TrEy 41 |

3. Answer any four of the following questions :
5x4=20

we] AR e wifeer Tel faa -

(a) What is inferior good? How is it different
from normal goods? Show it with the help
of indifference curves.

g2 WM 57 FefRe A 2 (@M
23 7 FRers @Y SRES (Sl |
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(st )

(b) Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

AR AN @FemME 791 AfREET H1e bifEae
S S0 T MRS, HICAA 547 |

(c) Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of ¥ 10.
Further suppose that the probability of
his winning is 0-6. Find expected money
value of lottery ticket.

Q@ 2 GG JfeE o1 903 56 Fa a
e 3face | I IfswE @ 3@ o
5,000 BF 4FFR R WF I TR, =
10 5% Fpafd 3701 417 | O 11 2 @ wHers
R RS & 0-6. &'01d1 HI6coR Ao

41 o0 Sferea |

(d) Define substitute and complementary
factors. Draw isoquants of perfect
substitutes and perfect complements in
production. Give examples.

fen we e TameR Age o | o Res
% 7o AR TR ACHIRAH (I %A 411
Tz g o
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(e)

4. Answer the following questions :

(5)

“If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

“efSrrfrorme TaRe It Toq AfSbEE e
95, cofey 7 ey MHEE % W QAR
faey Rmqtet 21 @ 17 1 340 |

Give the various concepts of production
costs in brief.

T qd fifoa gy Y o6

©Ed HCART Teq A

(@

(b)

22A/39

“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

“oprn SafEE ogoa sin REGR wfie
TAfS e FRCE 17 SCEADA FT |

Or / %91

Explain how indifference curve can be
derived using revealed preference theory.
AT AP G AZAS (@A PRI @1
AR N1fS, A AT

How are average cost curve and marginal
cost curve derived from total cost curve?

10x4=40

10

5+5=10

P I AYR [ @A TS JY @ e A1
I @ AT I A1 2
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(c)

(6)

Or / 9241

What is meant by optimum factor

combination in production? Explain with

the help of isoquant and isocost lines.
2+8=10

I BAMA (&b e e AW I
@ HF I @[ 2T A 4 |

Explain the impact of change in rate of
interest on the consumers. Use
diagrams. 10

BTSSR @9TS TR TW RIS AS M
%91 | foa ez A

Or / 941

Fill in the blanks in the following table :

3+3+3+1=10
To SIfeTRTA 1l J1RCAR &G AT :
Number of Total Marginal Average
variable inputs output product product
Afda=rire 75 Ceorr | onfeF Teomr | oS EeAmr
SR A
3 — 18 30
4 — 20 =
S 130 —_ —
6 — S —
- = 1
7 191
( Continued )
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(73)

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

@RS TrEY I OIS RPN SRAMA
AfSwfers = 2 I =W, (O3 @0l AfRTSTAE
HIfZAR (5B *_1 TP AT ST SIS

xR?

(d) Critically discuss the law of variable
proportion. 10
ARGSTN  Se  RECOT  FAACADARERRSA
HCEADAT 4T |

Or / 41

What are isoquants? Show the

increasing, constant and decreasing

return to scale through isoquants.
1+3+3+3=10

Mt @Y B2 oTWeeE @R RS

TRRYAM, A F FRPEH Seofie FARe

off T (ryed |

* % ok
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